

                                                                                    


     PCO/CT/1001(MC11)

M.Com. DEGREE EXAMINATION, APRIL 2016.
I YEAR — I SEMESTER

Major Paper I — ADVANCED CORPORATE ACCOUNTING AND
 ACCOUNTING STANDARDS
Time : 3 hours
   


          Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.

1. What do you mean by Accounting Standards?

2. Point out need for Accounting Standards.
3. Write note on holding company and subsidiary company.
4. What is minority interest?

5. Harsha Ltd Purchased 75% of shares in Saro Ltd on 01.07.2001 on 31.12.2001 the balance sheet of Saro Ltd. Showed Revenue Fund balance on 01.01.01 ` 40,000, Profit earned during 2001 ` 60,000 and Preliminary expenses unwritten off `20,000/-. Calculate Capital profits and Revenue Profits.

6. Define double account system.
7. Mention any two limitations of double account system.
8. Calculate the amount to be charged to Revenue Account from the following data :

  `
a. Present cost of replacing the old works

     
90,000

b. Amount Realized on the sale of old materials
  5,000

c. Value of old materials used in the reconstruction
     125

9. What do you mean by investment accounts.

10. Give the scheme of entries from the following :

a. “When containers are sold as scrap”.

b. It containers are destroyed in an accident”

11. What is meant by voyage Accounts?

12. State the two principles to be followed in preparing profit and loss account?
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.
13. Elaborate the significance of Accounting Standards?


14. State the important points are to be noted in respect of investments in equity shares?

15. How should the Government Grants be accounted in a company?

16. Consolidate the following balance sheets
	Liabilities
	K Ltd
`
	P Ltd
`
	Assets
	K Ltd
`
	P Ltd.
`

	Capital M1 Shares
	1,400
	1,000
	900 Sundry in  “P” at cost
	1,200
	-

	Creditors
	-
	500
	Sundry Assets
	200
	1,800

	Profit and Loss Account
	-
	300
	
	
	

	
	1,400
	1,800
	
	1,400
	1,800



When K Ltd. acquired the shares in P, the Profit and Loss A/c. of the later had  a credit balance as `200/-


17. From the following as at 31/03/2000, prepare the Revenue A/c. Net Revenue A/c. Capital A/c.            for KPTC Ltd.

	Balance as on 01.04.1999
	`
	
	`

	Land
	1,80,000
	Expenses of Management
	14,000

	Machinery
	7,20,000
	Cost of Distribution
	6,000

	Mains
	2,40,000
	Depreciation 
	24,000

	Expenditure during the year :
	
	Sale of Power 
	1,56,000

	Land 
	6,000
	Meter Rent 
	6,000

	Machinery 
	6,000
	Interest on Debentures
	12,000

	Mains
	61,200
	Interim dividend 
	24,000

	Ordinary Share Capital
	6,58,800
	New revenue account as on      01.04.1999
	34,200

	Debentures
	2,40,000
	Depreciation Fund
	3,00,000

	Sundry Creditors
	1,200
	Sundry Debtors

for energy Supplied
	48,000

	Cost of  generation
	42,000
	For Others
	600

	Rent and Rates
	6,000
	Cash Balance
	6,000


18. A manufacturer sells his goodsto customers in containers. The following information pertains to the year ended 31.03.1998.

	
	No. of Containers

	Purchases
	60,000

	Sent to out Customers
	50,000

	Fully destroyed
	200

	Sold as Serap for ` 1,000
	400

	At godown on 01.04.1997
	12,000

	With customers on 31.03.1998 (Returnable)
	10,000

	Returns from Customers
	4,000

	With Customers on 01.04.1997(Returnable)
	6,000


Purchases during the year amounted to `6,00,000/-. Hire charge is `10.4 per container. Chargeable price is 80% above cost. The cost price of containers has been constant over the last 3 years.

Prepare container stock A/c. and Containers Suspense A/c.

19. Shobha runs regularly between India and the united kingdom. For a particular voyage, the vessel loaded 9,000 tonnes of cargo at Kolkatta to be shipped to London for a freight @ `280 per tonne. Freight was got insured at ½% while brokerage on freight was paid at 1%. 

The total voyage time way calculated to be 40 days out of which ship sailed for 22 days while at stayed at ports for 18 days for loading, unloading etc. The consumption of bunkers (Fuel oil, Fresh water etc.) was as follows.

a. During stay at Port @ ` 12,000/- per day.

b. On sailing days       @ ` 21,500/- per day.

Post charges at Kolkatta totaled ` 80,000 whereas those at London amounted to `90,000. Steve Storing charges at Kolkata and London where at `20 per tonne and `25 per tonne respectively.

The annual expenses, which are apportioned in the basis of 360 normal working days in the year where as follows:

	
	
	`

	1.
	Salaries
	40,50,000

	2.
	Insurance Premium on vessel
	7,56,000

	3.
	Repairs
	18,63,000

	4.
	Annual depreciation of ship
	22,50,000


Prepare a voyage account and ascertaining the profit on the voyage.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions
20. Elaborate scope of accounting standards and printout the procedure of issuing accounting standards.
21. From the balance sheets and information given below, prepare and consolidates balance sheet.

	Liabilities
	H
	S
	Assets
	H
	S

	Share Capital (`10 per share fully paid)
	1,00,000
	20,000
	Sundry Assets
	80,000
	12,000

	P & L A/c.
	40,000
	12,000
	Stock
	61,000
	24,000

	Reserves
	10,000
	6,000
	Debtors
	13,000
	17,000

	Creditors
	20,000
	12,000
	Bills Receivable
	1,000
	-

	Bills Payable
	-
	3,000
	Shares in S Ltd. 15,000 shares at cost
	15,000
	-

	
	1,70,000
	53,000
	
	1,70,000
	53,000


Additional information:
a. An profits of S Ltd have been earned since the shares were acquired by 
H&Co. Ltd., but the reserve of `6,000/- was already there at the time.

b. Bills accepted by S Co. Ltd., are all in favour of H Co. Ltd., which has discounted `2,000 of them.

c. Sundry assets of S. Co. Ltd., under valued by `2,000/-.

d. The stock of H& Co. Ltd., includes `5,000/- bought from S. Co. Ltd., at profit to the latter of 25% on cost.

22. Electric supply Ltd., re-built and re-equipped one of their mains at a cash cost of `40,00,000/-. The old mains thus superseded cost `15,00,000. The capacity of the new main is double that of the old main. `70,000/- was realized from sale of old materials. Four old motors valued at `2,00,000/- salvaged from the old main were used in the reconstruction. The cost of labour and materials is respectively 30% and 25% higher now than when the old main was built. The proportion of labour to materials in the main than and now 2 : 3.


Show the journal entries for recording the above transaction. If accounts and ascertained under double account system.

23.
Tess purchased on 1st August, 1999, 13.5% convertible debentures of `100/- each in D Ltd of the face value of `1,00,000/- at ` 105, interest on the debentures is payable each year on 31st June and 31st December. Tess closes his books of account every year on 31st March. The following other transaction were entered in the year ended 31st March, 2000 in regard to these debentures.



1999 – Nov. 1 purchase of `50,000/- debentures @ `107 – cum interest.



2000 – Jan. 31 sale of `40,000/- debentures @ `103.


March – 31 receipt of 2000 Equity shares in D.Ltd., as `10/- each in conversion of 20% of the debentures held.

The market value of the debentures and the equity shares in D. Ltd. on 31st March 2000 were   `96 and `15 respectively. 

Prepare the debenture investment account in the book at Tess of FIFO basis.








-------------------



[P.T.O.]
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